ECON 443 Labor Market Analysis Quiz #7
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1.
If leisure is a normal good then an increase in non-labor income will cause desired hours of work to

A) increase.

B) decrease.

C) stay the same.

D) either decrease or increase.

Ans: B
2. If income is held constant and the wage rate increases, the desired hours of work will

A) increase.

B) decrease.

C) stay the same.

D) change ambiguously.
Ans: A

In the textbook (page 184, the last paragraph), it is defined that the substitution effect is the effect on labor supply of a change in the wage rate, holding wealth constant.  Therefore, the second question is asking you the substitution effect of an increase in the wage rate on labor supply.  The answer is A.  But if your answer is D, you still get scores in this quiz, but will not in the midterm. 

